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. sinB = 1—7, cos B = 1—7, tan B = g




2.

oh5 AHZe| 9] grol 7 22 29
@sin30° @ cos30° ® sin90°
@ tan4b° ® tan50°
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sin30° = 2 cos30° = ‘/7_’ sin90° = 1, tan45° = 1,
tan50° > tan45° = 1 o|B 2 7} ZH& A8 ¢in 30° o]t
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Z\*E‘ sin l cos
25° 10,42 0.90| 0,46
50° 10,76 0.63 1,19
70° 10,93 0.34 | 2.74

tan

cos 50° + cos 25° X sin 50° — tan 25°

=
[— Y

[ 2
> &=EH: 0.854

(F4]) = 0.63 + 0.90 x 0.76 — 0.46
= 0.63 4 0.684 — 0.46 = 0.854
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@D 7+8v2 @ 7+83 ® 8+8v2
@)s+sv3 ® 9+8v2
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D_C=E=1ﬁsin60°=16x‘/7§:8«/§

x=BD+CD=8+8V3




sinA = g Q1 27HAF7ke ABC oA cos A B
, tan A 9] FH& ZFZF Hobi? (T, 0° < A <
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2

@ cosA = ?, tan A = 1 @ cosAz%/—, tan A = 2

1
® cosA =243, tanA =1 @ cos A =33, tanA:E
@COSAZ g, tanA =1

~&B ~

sin A = % = \/75 O]EEm:EXSinA:6x%§ =32
oltt.

metaks Ao oJa) AC = /62 - (3v2)2 =3v2 olt}
whahA cosA_3\/_ f,tanAz%:i—gzlo]E}.
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6. sin(90°-A) = 3 A, tanA ©] F-27 (T, 0° <A <90°)
5 5 12 13 12
Ve @3 935 @95 O
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sin (90° — A) = cos A

5
tanA = —
an 12
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Smx—l—cosx—\/g—i—\/g— 3
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1 3
@ sin30° = 3 @ cos30° = 7\/_ @ tan4h° =1
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@ cosd5° = 7\/_ ®tancoe = V3

® tan 60° = V3 o]t}
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10. A+B=90° (% A>0°B>0°)< o, ot

@ sin (90°—A) = cosA
@SinA xXcosB=1

o

< &7

52
rlo

@ sin?A=1-cos?A

@ tanA xtanB =1

sin A
0s A

® tanA

P

rlo

A 4
B =
90°

o] =
=

b
@ sin(90° - A) = sin B = - = cos A>
c
. sin(90°—A) = cos A

= () +(;

2

a

c

@ sin? A + cos? A

c
. sin?A =1-cos?A

a

. a
@ sinA xcos B = — X
c ¢

. sinAXcosB # 1

b
@ tanA X tan B = =
a

X

a
tanA = —
@ an




11. oh& 797 22 AABC 914 AB = 4em A
,BC =8cm, /B=60°<Y o, AC ¢] Zo]

=7

@4 V3em ® 5v3cm
® 6v3cm @ 5+2cm
® T7cm

A

s
/
4

4c

/

1

1£60°

“~_ H -
“~-8em- 7

B >C

AH = 45sin 60°
V3

HC =8-BH
=8 —4cos60°
=8-2=6
AC’ =AH +HC olE&
AC” = (2V3)2 + 62 = 12+ 36 = 48
. x=43(cm)
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CD
D 1350 cm? @ 1350 V2 cm? @1350 V3 cm?
@ 2700 cm? ® 2700 V2 cm?

%x30x30xsin60°x6

:%x30x30x\/7§><6

=1350 V3 (cm?)




13. & a"83 2ol /B =60°, £.C = 45° Q1 AABC ©J|A] AHLBC o],
AB=x,AC=yzt & x o}y BAAS ZFoA Q.

@yziix @yzﬁx @y:ﬁx

® y= V2x ® y= V3x

=
| — ]

>
> EE. ©

AABH o4 A — B sin 60° = ‘/;x o)1

AACH oA AH — AC sin 45° — ;y ol

Vi B
A= Hre=y
V3
}’—75)6

V6

wEbA y = —-x ol
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14. ©hg 7837 22 AABC 9] Wol7l 5v2em? & ), AB o] Zo]
F-stefet.

A
45°
B4 ¢
—
cCF cm

A A oA $40 e W2 W BC oA Bhis g H 2 ohd,
AH = AB x sin45° ©]t}.

AABC = % X 5% AB x sin45° = 5v2( cm?)

gxﬁx%§:5\/§

Wt AB = 4 cmo]th.




15. o5 2™ 22 =99 {olg st A
7

@® 36 cm? @ 48 cm? 3Y55 cm?

@ 72cm? ® 108 cm?

e AR 9] Wole
1
3 X10x11x sin 90 ° = 55( cm?) ©]t},
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N /N

5.0ptAB, 5.0ptBC, 5.0ptCA 2] Zo]2] H|7}4:3:5 4 wf, AAOC

o eols T

=

C

@ 24cm? @ 28cm? @ 32cm?

@®)36 cm? ® 40cm?

B

£AOC = 360° x 150°

5 —

443+5
1

AAOC = = x 12 x 12 x sin (180° — 150°)

— X 12 % 12 x sin 30°

—><12><12><1
2 2
= 36 (cmz)
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the T 2ol WAIF2] Lol7} 2

C
o] Yof] 3= AABC oA LA =
60°, /B = 45° & wj, AB 2] Z9]
=2
® V2+v3 @i+ 6 AUB
C

® V3+V6 @ V5+ 6
® V6+ V7

~&B

AAB'C oA AB" = 4,
(ACB’ = 90°,

[AB'C = /ABC = 45°,
AC =4sin45° = 22

C oA AB o & =49 &
= H 2} 51H
AB=AH+BH

AH = 2vV2cos60° = V2
BH = CH = 2V2sin60° =
2\/§><§=\/5

. AB=V2+ V6




@ A 9] gto] S71sHH sin A O] g2 FHAghct,
@ A 9] gho] 745 tan A 9] gh-2 F7HRICE.
cos A O] &2 0, FAZZ 100t
@ tan A ©] 2552 0, AL 10]Th.

O

® sinA 9] ZH} cos A 9] Zro] Zol|= Ao gt

B

@ A 9] gko] S7F5lH sin A 9] g2 S7Fetth
@ A 9] gto] At tan A 9] 32 7

@ tan A 9] F&g2 0, HHAF2 gl
® sin A 9] 213 cos A 9] Flo] Zofx]= 727t Sl




19. thg 19 o] WAE] Polzt 2 9l Aol sABC 7k sk e,

S

. 30°\B
A45
vV A @) v2+ V6
@ \542“/6 ® 2(V2+ V6)

CA =4cos60° =2

A CelH AB o We $49 4 H e A AH -
CA cos45° = 2 o]},
tan 30°
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04
L

10 V3 cm?

OABCD = 10 x 8 x sin 60°

:10x8x‘/7§=40\/§(cm2)

. AABM = S0ABCD
= x40 V3
=10V3 (cm

)
A/,—10cm\\D
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